
https://www.geekcert.com/nse7_efw-6-2.html
2024 Latest geekcert NSE7_EFW-6.2 PDF and VCE dumps Download

 

 

 

NSE7_EFW-6.2Q&As

Fortinet NSE 7 - Enterprise Firewall 6.2

Pass Fortinet NSE7_EFW-6.2 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/nse7_efw-6-2.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Fortinet
Official Exam Center

 

 

NSE7_EFW-6.2 Study Guide | NSE7_EFW-6.2 Exam Questions | NSE7_EFW-6.2 Braindumps                               1 / 4

https://www.geekcert.com/nse7_efw-6-2.html
https://www.geekcert.com/nse7_efw-6-2.html
https://www.geekcert.com/nse7_efw-6-2.html


https://www.geekcert.com/nse7_efw-6-2.html
2024 Latest geekcert NSE7_EFW-6.2 PDF and VCE dumps Download

QUESTION 1

Which of the following conditions must be met for a static route to be active in the routing table? (Choose three.) 

A. The next-hop IP address is up. 

B. There is no other route, to the same destination, with a higher distance. 

C. The link health monitor (if configured) is up. 

D. The next-hop IP address belongs to one of the outgoing interface subnets. 

E. The outgoing interface is up. 

Correct Answer: CDE 

A configured static route only goes to routing table from routing database when all the following are met : The outgoing
interface is up There is no other matching route with a lower distance The link health monitor (if configured) is
successful The next-hop IP address belongs to one of the outgoing interface subnets 

 

QUESTION 2

Examine the output of the `get router info ospf interface\\' command shown in the exhibit; then answer the question
below. 

Which statements are true regarding the above output? (Choose two.) 

A. The port4 interface is connected to the OSPF backbone area. 

B. The local FortiGate has been elected as the OSPF backup designated router. 
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C. There are at least 5 OSPF routers connected to the port4 network. 

D. Two OSPF routers are down in the port4 network. 

Correct Answer: AC 

on BROADCAST network there are 4 neighbors, among which 1*DR +1*BDR. So our FG has 4 neighbors, but create
adjacency only with 2 (with DR and BDR). 2 neighbors DRother (not down). 

 

QUESTION 3

What conditions are required for two FortiGate devices to form an OSPF adjacency? (Choose three.) 

A. IP addresses are in the same subnet. 

B. Hello and dead intervals match. 

C. OSPF IP MTUs match. 

D. OSPF peer IDs match. 

E. OSPF costs match. 

Correct Answer: ABC 

https://help.fortinet.com/fos50hlp/54/Content/FortiOS/fortigate-advanced-routing- 54/Routing_OSPF/
OSPF_Background_Concepts.htm#Adjacenc 

 

QUESTION 4

Which of the following statements is true regarding a FortiGate configured as an explicit web proxy? 

A. FortiGate limits the number of simultaneous sessions per explicit web proxy user. This limit CANNOT be modified by
the administrator. 

B. FortiGate limits the total number of simultaneous explicit web proxy users. 

C. FortiGate limits the number of simultaneous sessions per explicit web proxy user The limit CAN be modified by the
administrator 

D. FortiGate limits the number of workstations that authenticate using the same web proxy user credentials. This limit
CANNOT be modified by the administrator. 

Correct Answer: B 

https://help.fortinet.com/fos50hlp/52data/Content/FortiOS/fortigate-WAN-opt- 52/web_proxy.htm#Explicit2 The explicit
proxy does not limit the number of active sessions for each user. As a result the actual explicit proxy session count is
usually much higher than the number of explicit web proxy users. If an excessive number of explicit web proxy sessions
is compromising system performance you can limit the amount of users if the FortiGate unit is operating with multiple
VDOMs. 

 

NSE7_EFW-6.2 Study Guide | NSE7_EFW-6.2 Exam Questions | NSE7_EFW-6.2 Braindumps                               3 / 4

https://www.geekcert.com/nse7_efw-6-2.html
https://www.geekcert.com/nse7_efw-6-2.html
https://www.geekcert.com/nse7_efw-6-2.html


https://www.geekcert.com/nse7_efw-6-2.html
2024 Latest geekcert NSE7_EFW-6.2 PDF and VCE dumps Download

QUESTION 5

What global configuration setting changes the behavior for content-inspected traffic while FortiGate is in system
conserve mode? 

A. av-failopen 

B. mem-failopen 

C. utm-failopen 

D. ips-failopen 

Correct Answer: A 

https://help.fortinet.com/fos50hlp/54/Content/FortiOS/fortigate-security-profiles- 54/
Other_Profile_Considerations/Conserve%20mode.htm 
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